
Maths Homework Y5 Mrs Ferrier and Mrs Davis 
Date set: 8/6/21 

Date due: 14/6/21 
You need to complete both sections 

 
 
 

Section 1 – You must show your 
working out for questions 1, 2 and 3. 
 
1. 894 x 37 = 33,078 
 
2.  2758 ÷ 5 = 551.6 or 551 R 3 
 
3.  65,584 = 70,050 – 4,466 
 
4.  Order these from largest to smallest:        
884936; 889634; 894638; 898436;  

 
5. If the value of the 6 in 724,163 is 

60, what’s the value of the 7?  
700,000 

 
6.  A factory builds 489 cars a week 

for 100 weeks.  How many cars do 
they make? 48,900 

Section 2 – Find that fraction! Remember, 
divide by the denominator (use bus-stop 
division if you need to) then multiply by 
the numerator 
 

1. 1

2
 of 40 = 20 

 

2. 3

4
 of 20 = 15 

 

3. 2

3
 of 36 = 24 

 

4. 3

5
 of 55 = 33 

 

5. 5

8
 of 48 = 30 

 

6. 7

10
 of 120 = 84 

 
 

 
 

 


